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The ‘merciful one’ pitied her, in order that she receive forgiveness

OVERVIEW

21 27 MR A7 20 derives from the P105 of 31 NRVA Y31 WY 0 AWK R wK,' that
TN PR 9% WKL AwX 2137 Mwia. This means that whenever there is a
punishment (such as Mp5n or a 127p2) for doing an 7702y it is applicable to women
as well. The X713 states that from this 109 alone we would not know that women
are equivalent to men regarding other issues (such as 7°1°7 or nin"»). The reason is
because we may think that only concerning 1w (where the wiw [be it mpon or
127P] serves as a 11193) does the 77N equate women to men, because the 770 has
compassion for the women transgressor and desires that she receive atonement for
her transgression.” However by other cases where there is no compassion indicated
by equating the woman to a man, perhaps they are not equal.

mooIn asks:
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And if you will say; if the women would not be equated at all to the men
concerning punishments,” that would certainly be considered a greater

compassion!

- 595 7995 13598 NNPH R ‘WY Na HYn NYY
For she would not receive any punishment and she would not require
atonement at all! How can the X3 state that [we may have thought that] the reason the 77N
equated wX? 7w for all 7N2w PwNY is because the merciful one had compassion for the woman
and wanted to afford her the opportunity for atonement; if indeed the 7710 had compassion on the
woman it would have excluded her initially from any punishment, and there would be no need
for atonement.” That would have been true compassion.

! 1,7 (Xw1) 12712, The 7w is discussing 77 213, There is a WX 1279 and wmn charged to the 1713

* 1t follows that if she receives the w1y, she is (also) prohibited from doing this act, and it is considered a Xur. See
following footnotes # 3 & 4.

3 This means that if there would not be the w1 of nwK? WK concerning 2°w1y, and therefore women would be
entirely 7109 from o°wny (and would not be considered transgressors). See following footnote # 4.

* Mon in 2wn "7 X719 PwITR words the question as follows; Xorm 891 Wiy XY 9y PRT *0v 75y on. In "1 Mmoo it
states similarly, X7 X7 R Xor *7% R? wnw >7H KD 7982 70°7 K2 M.

> The fact that the 770 does equate 7MN2W PwNY 9% wWXY AWK indicates that there is no special compassion for
woman, and they are held equally liable as men are. M50 question is why could we not derive from w1 the rule
of wR? TWR 21n27 MW in regards to all other areas as well.
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N1B0IN answers:
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And one can say; that it is necessary to have a P1® (to equate women to men in

regards to 77192) in cases of punishments which are explicitly written for woman -
111995 10Y YIY MY 1N

for instance concerning the laws of illicit relationships, where the 7710 specifies
punishments for the women (as well as the men).® It is in regards to these laws that

the 770 found it necessary to equate W K> nwX, that women have a 795> (even) for
these transgressions. Md0IN answer is that there are certain transgressions where we know
(without the Tw% of w°RY AwX 2w>7 mMwn) that woman are prohibited and will receive
punishment for transgressing them. Without the 712°% of 772w PYWNY 532 WOKRY AWK N7 MW,
we would not have known that there is a 7793 for women for these transgressions as well.” It is
because of this compassion that we cannot derive the rule of w°R% 7wX 2157 mwi in all other
instances.®

SUMMARY
The compassion shown to women is concerning those cases where there is an
explicit punishment for woman, and nevertheless they can receive atonement.

THINKING IT OVER

Granted that there is compassion in the cases where explicit punishment is meted
out to women (that they have a 7793); nevertheless the wp 7 of AwWX 21027 MWn
AMNaw P 935 wRY applies to all cases,” even where there is no explicit wny for
the women (but rather it is derived from this ¥p*7); why cannot we derive the rule
of WXY 7wk 21007 mwn for all instances, from the WY %09 WOR? WX 21N MW7
7MN2Y in those case where there is no explicit w1 (and therefore no [special]

compassion)?!"

®See 191 1 — 10,7 — XY, (2WITP) RPN,

7 The wp>n teaches us that if the woman transgressed an 3Wwa N1y MoK, she will receive a 7793 through a 127
nxvn, just like a man.

¥ See “Thinking it over’.

? It would be (seemingly) difficult to assume that the w7 is referring only to N1, etc.; for why would it be written
by a7 713, it should be written by n1»w. If indeed it is referring only to Ny, then how can we derive that woman are
equal to men in regards to 71MN2W PwY 73?! See (also) n'"ma.

10 See w"wn in R,7% PwTR on Dwn 7"7 MBI cited above (footnote # 4).
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